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QUESTION 1

What JavaScript feature and its libraries are available to all gadgets without any additional requirements?

A. the basics feature including gadgets.show, gadgets.hide, and gadgets.xml

B. the crud (or REST) feature including ajax.get, ajax.put, ajax.post and ajax.delete

C. the core feature including gadgets.io, gadgets.util, gadgets.Prefs. and gadgets.json libraries

D. the dynamic-height feature including gadgets.window.adjustHeight and gadgets.window.getViewportDimensions

Correct Answer: C

QUESTION 2

What is provided by OpenSocial support in IBM Connections?

A. OpensSocial only provides support for embedded experiences when used with IBM Notes.

B. OpenSocial integration with IBM Connections provides the Activities application user interface.

C. OpenSocial support in IBM Connections provides the reference implementation for other vendors to evaluate
specification compliance against.

D. OpenSaocial provides support for activity streams, embedded experiences, and OAuth allowing standards-based
integration with in-house or third-party applications.

Correct Answer: D

QUESTION 3

OAuth Authentication is done in three steps. First, the consumer obtains an unauthorized request token. Next, the user
authorizes the request token.

What is the third step?

A. The user authorizes the access token.

B. The consumer authorizes the access token.

C. The user exchanges the request token for an access token.

D. The consumer exchanges the request Token for an access token.

Correct Answer: C

QUESTION 4
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What is true regarding a gadget with Type="URL"?
A. Only Type="HTML" can be used for an OpenSocial Gadget.
B. A standard set of parameters are not added to the URL by the gadget server.

C. Type URL gadgets cannot take advantage of all features, notably features that manipulate HTML and JavaScript
code directly.

D. When loading JavaScript library requests, a server must provide an OAuth service for retrieving core and feature-
linked JavaScript.

Correct Answer: C

QUESTION 5

HTTP basic authentication is supported using the REST API. Which is a valid cookie named?
A. sessionid

B. RestToken

C. RestSession

D. SimpleToken

Correct Answer: D
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